Write the letters of the property or properties of the real numbers that justify the expression on the left. 

1. Write an equivalent statement in symbols: The product of 9 and the sum of y and 6 is 63.

2. Write an equivalent statement in English. a + b < 8



3. Simplify using the order of operations: 21 ÷ 7 + 3 * 4



4. Simplify 3 • 6 + 33 – 52 • 2






5. Name the opposite, reciprocal and absolute value of 
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6. Add:  (-24) + (-26)







7. Add:  9 – 3(5 – 3) + (-5)

8. Add  
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9. 12 – [(20 – 8) + (12 – 2)]







10. |8 – 12| –  |-14 + 2|



11. Multiply: [image: image3.wmf]3
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12. Simplify:  4(-5) – (-2)(-4)


13. Simplify: 15 – 4[2(6 – 2) + 3(7 – 2)]


14. Simplify:  (6 – 2)(7 – 2)


15. Simplify:
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16. Simplify:  [image: image5.wmf]34(2)
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17. Simplify: 
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18. Simplify:  
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19. Find the next term in the sequence and state whether the sequence is geometric, arithmetic or neither:  3, -9, 27, …

20. Simplify: (3 + 0)(7 – 3) 









a. 21

b. -21

c. 12 

d. -12

e. 7

21. Simplify: 7 + 3[ -2(5 – 3) – (6 – 3)] + 5






a. 9

b. -9

c. -65 

d. 65

e. 11

22. Simplify: [image: image8.wmf]18(3)
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a. -18

b. 18

c. -7 

d. 7

e. 6

23. Simplify: [image: image9.wmf]9125
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a. -15

b. 15
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24. Factor 1800 into a product of primes.






25. Factor 4500 into a product of primes.



26.  Subtract 6 from -20






27. Every integer is a rational number. (true/false)




28. Some integers are irrational numbers. (true/false)




29. Every integer is a whole number.  (true/false)



30. Reduce the following by first factoring the numerator and denominator into the product prime factors and dividing out any factors they have in common
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Answers
1.     9(y+6)=63
2.     The sum of a and b is less than or equal to 8.
3.     15
4.     -5
5.     opposite   
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   , reciprocal 
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 and absolute value 
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6. -50
7. -2
8. [image: image17.png]31




9. -10
10. -8
11. [image: image18.png]dleo




12. -28
13. -77
14. 20
15. 4
16. 4
17. [image: image19.png]



18. [image: image20.png]ol




19. -81, geometric
20. 12
21. -9
22. 7
23. -15
24. [image: image21.png]233352




25. [image: image22.png]23325




26. 26
27. True
28. False
29. False
30.
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